PROPERTY OF RaychemRPG (P) LTD.

100.0

VIEW OF LID TOP

235.0
o a15 R°
00\7 ’ _.’._woa Description Material (Drawing No.|Rev.No.| Qty PCN
- t s 1_[200X150X100 Base Gl FRJ03B 0 1
AN ¥/ g 2 [200X150X100 Lid Gl FRJO03-L 0 1| DAB4101210
QW T mu 3 [M5 Blind Large Flanged Serrated NutSert | SS 304 [ RRPL STD 0 4
_ - R 4| Oval Head Screw DIN 966-M5x33 SS304 | RRPLST | 0 4 |DAB4100813
5 |Plastic Insert for M5 lid screw PA RRPL STD 0 4 | DAB4700021
_ SILICONE VMQ SPONGE PROFILE 13 X
7 MM WITH ONE SIDE SELF ADHESIVE | .
@ O o 0 4 ™~ y
“ | 38 6 |TAPE AS PER DRAWNG 1010.5-G8K | Siicone [2015SKGSK | 0 |0.65m| JAPO100003
O O - -
7_|Mounting Plate MS Zn. PI.| FRJ03-MP 0 1
8 | M6 X12 Earth Stud SS 304 ST 0 7| AB4I0T2I0
L 1 M6X8 EARTHING SCREW - COPPER
Par) 9 |5/ ATED MSCu.Pl.| ST 0 4 |MAA0030109
5. [ & &\ CB16/3H- CONNECTWELL 10mm?3
bl b 10 |POLE WITH MOUNT HOLE CERAMIC Ceramic ST 0 3 | DAB4100780
TERMINAL BLOCK
FLAT SLOTTED HEAD M3X20 MS
11 |SCREW FOR CB16/3H TERMINAL MSzn.PlL| ST 0 6 | DAB4100781
BLOCK
12 |FR SIZE LABEL Polyster | FRI03LB |0 1| MAN0070073
13 |FR LABEL BS6387 Polyster | FRJB-LB-00] 0 1 |MAN0070104
REV. NO. i DESCRIPTIONS DATE | DRAWN |CHECKED
Ref- RRPL TITLE - FR JUNCTION BOX 2771118 | PRAN | DRAWN
NOTE :- 200X150X100 ASSY| 2711118 P.W. CHECKED|
1) ALL SHARP EDGES ARE BURR FREE. ol _ﬂu%m% « MATERIAL- | FINISH:- nosomxmoamu B
m RAL2003 ORANGE
2)  NON DIMENSIONAL RADIUS - 2.0mm unless other specified | G 1-5mm (100-120microns)
3) ALL CORNERS ARE FILLET WELDED AND GRINDED. p
PARTNO:-  DAA4600032
4)  IPRATING - IP 65 ‘EHD- | rayetom rec (p) Limitea
5)  TOLERANCE AS PER DIN ISO 2768-mK FRsrwcisproiorion | Geat Mahal Amere, DRG.NO.
. Annie Besant Road ,
(O FUNCTIONAL DIMENSIONS ALL OIMENSION ARE I | Worl, Mumbal 400030 FRJO3-A
Web : www. m
DO NOT SCALE ©

[CJALL RIGHTS RESERVED AND/OR PHOTOCOPYING THIS DOCUMENT TO A PERSON WITHOUT RaychemRPG (P)LTD WRITTEN AUTHORIZATION IS PROHIBITED




